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5 3 4 g ak EEFEBRE AR SRR (E/FIE)

ORARHERR NV — b (244)

[$25) |34 HEE (341 BB Sf44E3H31A F &) WCHREWET) LT-AXIREWET)
T3 RiALO#E, TBE2E] [XATHEE (SFf34E3H31H) FTIEBEEET) LEETH S,

(ZBAE10ALLE)
S e
SHER| OREL| SR |ZREL AREK SRR | 2RER AREY] SkR
H A AR 33 33[ 100.0 32 32(  100.0 1 1| 100.0
AL SCEOR R R 30 30[ 100.0 30 30[ 100.0 0 0 0.0
e [i] WPk ST R S R S 29 29| 100.0 29 29(  100.0 0 0 0.0
(] % P IR A R 26 26| 100.0 26 26 100.0 0 0 0.0
B 75 S F R A A2 Be 24 24| 100.0 23 23[  100.0 I I| 100.0
e A KA NI R0 23 23| 100.0 22 22 100.0 1 I| 100.0
KIF TR B AR P T3 21 21| 100.0 21 21 100.0 0 0 0.0
1 i R ST R 21 21 100.0 21 21| 100.0 0 0 0.0
FAL AR AL R 21 21| 100.0 20 20( 100.0 1 I| 100.0
- R 19 19 100.0 18 18] 100.0 I I| 100.0
S P AR R 2 19 19| 100.0 19 19| 100.0 0 0 0.0
RIERT 19 19| 100.0 18 18 100.0 1 1| 100.0
FrSR SR 18 18] 100.0 18 18] 100.0 0 0 0.0
A B A 5 kTP 2 18 18[ 100.0 18 18[ 100.0 0 0 0.0
IGLEHE AR ALY 4 17 17| 100.0 16 16| 100.0 1 1| 100.0
A EYMCAFE P ERAE AL 7R 16 16| 100.0 16 16| 100.0 0 0 0.0
IR KT 16 16| 100.0 16 16| 100.0 0 0 0.0
TR PR 16 16/ 100.0 16 16| 100.0 0 0 0.0
GISNEE EaNE = 15 15[ 100.0 14 14[  100.0 I 1| 100.0
SR [ R i 1 R P AR 15 15| 100.0 14 14{ 100.0 1 1| 100.0
K FH P 0 O R P A5 14 14| 100.0 14 14| 100.0 0 0 0.0
I AL L 0 1 2 7 P ) 14 14| 100.0 14 14| 100.0 0 0 0.0
i) A0 G Ak R P 2 14 14| 100.0 14 4] 100.0 0 0 0.0
B ZEE « KR Il B A 14 14 100.0 13 13| 100.0 I I 100.0
BB U I [ A e P A 13 13| 100.0 13 13| 100.0 0 0 0.0
3R LK 13 13| 100.0 13 13| 100.0 0 0 0.0
PN EU R S i S A sl 7 12 12| 100.0 12 12 100.0 0 0 0.0
7R )| | # 2 kTP A 12 12[ 100.0 12 2] 100.0 0 0 0.0

(1~28%%)



sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR
LAEABAFER 12 12| 100.0 11 11| 100.0 1 1| 100.0
RS NE 12 12| 100.0 11 11| 100.0 1 1| 100.0
R P S AL - (S (L B R 12 12 100.0 12 12| 100.0 0 0 0.0
B IR A A LR B P 12 12| 100.0 12 12| 100.0 0 0 0.0
R B R AR AER AL 12 12[ 100.0 12 12| 100.0 0 0 0.0
JeHgIE E R RF 12 12| 100.0 12 12| 100.0 0 0 0.0
BT A 25 A LAY P A 12 12| 100.0 12 12| 100.0 0 0 0.0
KIp @ ifise v+ AERE L FM SR LR 11 11 100.0 11 11 100.0 0 0 0.0
AR 1 W7 R AR Ak R 11 11| 100.0 10 10[ 100.0 1 1| 100.0
[ EEE TR E MK 8 11 100.0 11 11 100.0 0 0 0.0
B AR AL P AR 11 11| 100.0 8 8| 100.0 3 3| 100.0
W EEBER 11 11| 100.0 11 11| 100.0 0 0 0.0
RAIERFEHIR AT L1 11| 100.0 10 10[ 100.0 1 1| 100.0
YMCAK - =R AL P A% 11 11| 100.0 11 11 100.0 0 0 0.0
B ARIA OSSR 10 10[ 100.0 9 9 100.0 I 1| 100.0
ARt ESEERTE 10 10l 100.0 10 10| 100.0 0 0 0.0
BHREFEALD L Y (frilifaalE) 36 35| 97.2 36 35|  97.2 0 0 0.0
VD E AR AL EE P AR 34 33 97.1 34 33 97.1 0 0 0.0
e My ] Y R 27 26|  96.3 25 25 100.0 2 Il 50.0
AL 22 07 Bl T8k B P A 25 24 96.0 24 24| 100.0 I 0 0.0
A B BP0 (/— S b 7 ) 24 23]  95.8 23 23| 100.0 1 0 0.0
£ A4 R 2 23 22|  95.7 23 22  95.7 0 0 0.0
RS 0 R R (7 P S R M e 23 22 95.7 23 22| 95.7 0 0 0.0
BT AR AL R 22 21 95.5 20 20 100.0 2 I| 50.0
P e S W= R I i Rt 53 20 19|  95.0 19 18|  94.7 1 1| 100.0
FK R s firl K 19 18| 94.7 19 18|  94.7 0 0 0.0
KN T e AL B P A 18 17 94.4 18 17] 944 0 0 0.0
S IR AT R G AR e | L T o 18 17 94.4 18 171 94.4 0 0 0.0
rn R AL B P SR 16 15[ 93.8 16 15| 93.8 0 0 0.0
VR B 0 R £ P 32 () Bl ) 16 15 93.8 14 14| 100.0 2 1| 50.0
A R E AL & B L v 15 14]  93.3 15 14  93.3 0 0 0.0
e e T e 15 14 93.3 13 13| 100.0 2 I| 50.0

(29~60#%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR
v M B8 R AL R 15 14| 93.3 14 14| 100.0 1 0 0.0
SLATZEREFR ALK F R R 550 15 14|  93.3 14 14| 100.0 1 0 0.0
NSRS NE= 15 14  93.3 14 14| 100.0 1 0 0.0
P kB A 15 14|  93.3 15 14  93.3 0 0 0.0
1] W 22 94 30 R~ 14 13  92.9 13 13| 100.0 1 0 0.0
HER B K 14 13 92.9 12 12| 100.0 2 1| 50.0
Fo ] (25 s A kR P A 14 13]  92.9 14 13|  92.9 0 0 0.0
o] (L1 [ A Ao B P A 52 48|  92.3 52 48[  92.3 0 0 0.0
T VT 7 ESRAR AL R Y AL 26 24 92.3 25 23 92.0 1 1| 100.0
FAABII R 26 24|  92.3 26 24|  92.3 0 0 0.0
W 0 R P 22 (R B 8 R 12 11 91.7 9 9 100.0 3 2 66.7
H AR R 12 1 91.7 12 1| 91.7 0 0 0.0
A AFRA-2E 8K B R 12 11 91.7 12 1| 91.7 0 0 0.0
~ i = R HE AR AL R P SRR 12 11 91.7 12 [ 91.7 0 0 0.0
HE L R EIR 22 20l 90.9 21 20 95.2 I 0 0.0
e i R AL P SR 22 20(  90.9 20 19]  95.0 2 1| 50.0
T IR R A Ak B Y A 11 10 90.9 10 10[  100.0 1 0 0.0
H AL e kTP 23 42 38|  90.5 140 371 925 2 I| 50.0
il K5 21 19  90.5 21 19]  90.5 0 0 0.0
FH AR Ak 27— S L B P 2 20 18[  90.0 19 18]  94.7 I 0 0.0
KFELAKF 10 9]  90.0 9 9 100.0 1 0 0.0
KRR B IR Ak R P A 10 9]  90.0 10 9 90.0 0 0 0.0
e M MV S i B 2 39 35|  89.7 34 331 97.1 5 2| 40.0
B LB R A 29 26|  89.7 28 26  92.9 I 0 0.0
{EM AR —7 R Ak B P 2 19 17]  89.5 19 17| 89.5 0 0 0.0
bR NN = T N 27 24|  88.9 25 23] 92.0 2 1| 50.0
N =F 4 A7 O H RS EE R AL R 2 25 22| 88.0 25 22|  88.0 0 0 0.0
B 5 [ R bR S U R R 24 21| 875 24 21| 87.5 0 0 0.0
FNELI BRI AL 16 14| 87.5 16 14 87.5 0 0 0.0
S SR AR P AR 15 13| 86.7 15 13| 86.7 0 0 0.0
KIS S0 (N B RE R ) 22 19 86.4 22 19| 86.4 0 0 0.0
B 8~ — A R A Ak B A 22 19  86.4 20 19]  95.0 2 0 0.0

(61~92f%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR

PN LE) o U R A o N 29 25 86.2 28 25|  89.3 1 0 0.0
A 5 ik B P A3 A 36 31|  86.1 32 30 93.8 4 Il 25.0
F (5] A A 2 [ R 35 30[ 85.7 30 27 90.0 5 3| 60.0
INFEBER R R 21 18|  85.7 20 18 90.0 1 0 0.0
A1 A AR LA 20 17| 85.0 18 17 94.4 2 0 0.0
T IV RS AR P AR 19 16| 84.2 16 16( 100.0 3 0 0.0
RGO 19 16| 84.2 17 16|  94.1 2 0 0.0
| K 19 16| 84.2 16 16| 100.0 3 0 0.0
R Bt 5L 2ERL 19 16| 84.2 19 16| 84.2 0 0 0.0
4 iy R R AU T A A P AR 25 21|  84.0 23 211 91.3 2 0 0.0
SR AL PR i 25 7% B P A 18 15[ 83.3 18 15| 83.3 0 0 0.0
PN A ki 59 49 83.1 56 48|  85.7 3 1| 333
J 3 A Ak B P A 23 19 82.6 23 19 82.6 0 0 0.0
7 AL R A 23 19| 82.6 21 19  90.5 2 0 0.0
BERF L LT MR 28 23]  82.1 28 23|  82.1 0 0 0.0
B Y AR T 7 — KA AR 22 18] 81.8 18 16| 88.9 4 2 50.0
g R R Y AR 22 18 81.8 20 17| 85.0 2 1| 50.0
Ko7 A i et il - P oA 11 9] 81.8 11 9 81.8 0 0 0.0
FES LS AL TP 2 11 9] 81.8 9 8] 88.9 2 Il 50.0
AL S b R P AR 8 9] 81.8 9 8| 88.9 2 Il 50.0
fili 5 BE A E R AL P AR 38 31| 81.6 37 31] 83.8 1 0 0.0
B FARAE LR T ERE P 24 48 39| 81.3 42 371  88.1 6 2| 33.3
AR G A AL T P S 16 13[  81.3 14 13|  92.9 2 0 0.0
R 122 9 A T U R ] 2 A8 16 13 81.3 14 13]  92.9 2 0 0.0
[ B AR R P 2 (IR Ak RE) 26 21 80.8 25 21| 84.0 1 0 0.0
FHES S Ak TP 25 20(  80.0 23 20| 87.0 2 0 0.0
SN RUAEY T — a2 20 16  80.0 17 15| 88.2 3 1| 33.3
LN RIS S R 2 39 31 79.5 36 30 83.3 3 Il 333
= AT AR AL AR 24 19 79.2 20 19]  95.0 4 0 0.0
B L 19 15  78.9 16 14| 875 3 1| 33.3
Wh Z B KPR 19 15 78.9 16 15| 93.8 3 0 0.0
BUVGRE SHIE SESR NS = 19 15 78.9 19 15| 78.9 0 0 0.0

(93~124F%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR

JUIN R B0 R (LA R 14 11| 78.6 9 9 100.0 5 2| 40.0
AR R AL 2R B A% 23 18[ 78.3 20 18] 90.0 3 0 0.0
SRR AL R P 2R 36 28| 77.8 29 26|  89.7 7 2| 286
YICH AL H P 25 18 14| 778 17 14| 82.4 1 0 0.0
T A TR SRR AR A B P A 40 31| 77.5 36 30| 83.3 1 1| 250
<HLEMR G ALY A% 31 24 77.4 28 24|  85.7 3 0 0.0
o VT o [ A R0 R AR 13 10|  76.9 10 10| 100.0 3 0 0.0
P B B AR SR 13 10 76.9 13 10 76.9 0 0 0.0
PERLY MC A [E P f B P 24 17 13 76.5 15 13| 86.7 2 0 0.0
IR TIpNE 3 TR e i 21 16|  76.2 16 15  93.8 5 Il 20.0
NTUNEIER =y e 21 16| 76.2 18 16] 88.9 3 0 0.0
HH FE 25 i Ak B P e 21 16| 76.2 19 16| 84.2 2 0 0.0
IR A PR T e R 2 () R ) 16 12| 75.0 14 10 71.4 2 2| 100.0
PR A 7 X — B A% 16 12| 75.0 14 12| 85.7 2 0 0.0
Lo it AL 2 16 12| 75.0 15 12 80.0 I 0 0.0
AR LR R 22 R P ¢ 27 201 74.1 23 20( 87.0 4 0 0.0
4 i R E B 27 201 74.1 25 20(  80.0 2 0 0.0
BV NB AL PR R AR 50 371 74.0 43 36| 83.7 7 Il 143
O 6] AR 2 R R 37 27 73.0 36 26| 72.2 I I 100.0
L)V A P S5 25 4 |y 82 22 16| 72.7 20 15| 75.0 2 I| 50.0
Y ] 25 P Ao R P e 22 16| 72.7 20 15|  75.0 2 1| 50.0
RN =T 4 F S L A A P 274 58 421 724 50 38 76.0 8 4 50.0
et R AR AR AR 21 15[ 71.4 18 15| 83.3 3 0 0.0
KRR ORT AL 4 14 10 71.4 13 9 69.2 I I 100.0
)R 14 10[ 71.4 14 10 71.4 0 0 0.0
P A IR AR AL R L 31 22 71.0 26 19  73.1 5 3l 60.0
SPNE TR 2 27 19  70.4 21 18] 85.7 6 I 16.7
% 1] R ERA A A TR — Y L P 222 30 21| 70.0 24 9] 79.2 6 2| 333
KPR 2o TR0 K NI Ak ) 20 14| 70.0 14 14| 100.0 6 0 0.0
AL P SRR 20 14| 70.0 19 14  73.7 1 0 0.0
T R R 5 10 7|  70.0 7 6| 85.7 3 1| 333
R ] SR AL R P S 10 71 70.0 10 71 70.0 0 0 0.0

(125~156#%)




shEK| anER| AR |2RE onEy| ok |2RER| asER Ak

fE ] AT A AL P AR 10 7| 70.0 8 6| 75.0 2 1| 50.0
B PR AR AR B P A 36 25|  69.4 32 23] 719 4 2| 50.0
AT = AR AL R P AR 26 18|  69.2 25 18]  72.0 1 0 0.0
SR AR A 13 9] 69.2 12 9] 75.0 1 0 0.0
BB i R 35 24|  68.6 26 23| 88.5 9 I 111
i R[22 98 At AL B P s 31 21| 67.7 26 18]  69.2 5 3 60.0
BVl 8P A% 48 32  66.7 39 27  69.2 9 5| 55.6
4 iy AR AL R P 36 24| 66.7 28 22| 78.6 8 2| 25.0
SEP SRR B 7 K (BB 18 12| 66.7 14 12| 85.7 1 0 0.0
V)—ZEH & AR — YR LK 12 8| 66.7 10 8| 80.0 2 0 0.0
FL i P 3 8 P i B P 2 s 12 8| 66.7 11 8| 72.7 I 0 0.0
fa L R A ik E P A 29 19] 65.5 26 19| 73.1 3 0 0.0
HERURE LR P S (Fr it R34 ) 26 17|  65.4 25 17 68.0 1 0 0.0
BERS /S — A KRBT (A I IE AR 23 15  65.2 16 12| 75.0 7 3[ 429
i o] kR 23 15  65.2 20 14| 70.0 3 1| 333
B AR K FEAR T P 68 44  64.7 61 43| 70.5 7 1| 143
Frk 1LY MCA E Bt Ak R P 52 34 22|  64.7 24 20 83.3 10 2| 20.0
WLy DE PR E R R AL 17 11| 64.7 17 11| 64.7 0 0 0.0
T 3 [k B P e 45 29| 64.4 141 26| 63.4 4 3| 75.0
7% BB R 14 9] 64.3 13 9 69.2 I 0 0.0
AL E S Ak T SR AR 25 16| 64.0 I 16| 94.1 8 0 0.0
B P S 7 ) RS ] 38 24|  63.2 31 24|  77.4 7 0 0.0
T IR i pIk B P A 66 41 62.1 59 411 69.5 7 0 0.0

T BE AL B P s 21 13  61.9 17 10] 58.8 4 3| 75.0
R ZEbEaIL v 26 16| 61.5 23 15|  65.2 3 1| 33.3
Bt S AE AL R A 13 8| 61.5 11 8| 72.7 2 0 0.0
AU AE YT — a AL 23 14|  60.9 20 14|  70.0 3 0 0.0
FMEE LR I 2R (TR AL PR S B S LR 40 24 60.0 34 20 58.8 6 4 66.7
RIGFERZES PP 25 15 60.0 23 4]  60.9 2 If  50.0
WA et Ak BT 2 32 19 59.4 32 19| 59.4 0 0 0.0
F AR AL B R (ARt 77 45|  58.4 68 42|  61.8 9 3[ 333
R AL IR T YR 36 21|  58.3 33 20[  60.6 3 If 333

(157~188#%)




1 Bt i 4 o kS - s

TRER| aHER| SR |2RhER anEk| ok |2REK|akEY GBR
Y MCA B AR AR Y 4% 45 26 57.8 36 26| 72.2 9 0 0.0
R S R R R 73 42| 57.5 66 41 62.1 T I 14.3
B b o = T B SRR AR A 36 20 55.6 28 19|  67.9 8 1| 125
KIFARE R QLR P Pt e 2 27 15| 55.6 25 15 60.0 2 0 0.0
F= Ak R R R P A 1 6| 54.5 11 6| 54.5 0 0 0.0
LN A R 34 18] 52.9 22 17 77.3 12 I 8.3
YMCAfE @ AL 4% 36 19] 52.8 33 19] 57.6 3 0 0.0
P AR ALK S 19 10 52.6 17 10 58.8 2 0 0.0
KR R AL IR (I i R 21 11| 524 20 11l 55.0 1 0 0.0
A FH [E] B Ak B P AR 23 12| 52.2 19 1| 57.9 4 1| 250
S [ A A AL R P A 23 12| 52.2 21 12 57.1 2 0 0.0
B V4 Ak R AR 79 41| 51.9 70 40  57.1 9 Il 111
H AR Ak 25 97 B P 2R 16 8| 50.0 14 8| 57.1 2 0 0.0
HE IR = 7 B A 12 6] 50.0 5 4| 80.0 7 2| 286
W U A P S (1 8 k) 10 5/ 50.0 8 5 62,5 2 0 0.0
NN SE PN 52 25 48.1 45 23]  51.1 7 2| 28.6
HERUHE LR P SR (F ik 24 ) 103 49|  47.6 78 44|  56.4 25 5[ 20.0
PE FLN R R R 36 17|  47.2 26 17]  65.4 10 0 0.0
Wik=7 Loy 17 8| 47.1 13 8| 61.5 4 0 0.0
b K B Ak B 49 23] 46.9 38 22| 57.9 11 I 9.1
HEP AR L E Y R AL 15 7| 46.7 7 6| 85.7 8 Il 125
LA ) 2R B BT DO IR E 4 64 29| 45.3 52 28] 53.8 12 1 8.3
IARY MC A [ P fE P 27 4% 20 9] 45.0 15 9]  60.0 5 0 0.0
iy T 58 o i Ak B P A3 18 8| 444 16 7| 43.8 2 I| 50.0
MR AR [ 19 8| 42.1 17 8| 47.1 2 0 0.0
RN e[ 2 i kB P AR 41 17| 41.5 32 16|  50.0 9 1 111
L R B R SR 17 71 41.2 14 71 50.0 3 0 0.0
B P8 R 7 i AL TP A 33 13|  39.4 25 12]  48.0 8 Il 125
i IS 41 16| 39.0 39 16| 41.0 2 0 0.0
MFUANE YT — > a AR 2R 33 12|  36.4 27 12|  44.4 6 0 0.0
FIRENERSE 21 7 333 21 71 33.3 0 0 0.0
KIRAE A LR R (I aim ko f) 12 4 333 12 4  33.3 0 0 0.0

(189~220#%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR

FRaR L SR AE R P AR 55 18| 32.7 16 17| 37.0 9 I 111
RS A A B AR L R AR L 31 10| 32.3 21 10 47.6 10 0 0.0
KRR FE R A B el P 2R Bl P A 47 15 31.9 35 15 429 12 0 0.0
(2P b B P A 47 15 31.9 39 14|  35.9 8 1| 125
TAES T A AL B A 23 7 30.4 16 7| 43.8 7 0 0.0
PN TS R A et 3 92 26| 28.3 89 25|  28.1 3 1| 333
BT R ies T s A s et 14 106 29 27.4 64 29  45.3 42 0 0.0
(R il R A4 R R 33 9] 27.3 25 9 36.0 8 0 0.0
PR L - R RS 49 13| 26.5 34 12|  35.3 15 1 6.7
PR A Al PR T P A 23 6] 26.1 19 6| 31.6 1 0 0.0
Z A AR R P AR A I A 23 6] 26.1 20 5| 25.0 3 1| 33.3
EPRE T R AR ALY R 27 7 25.9 24 71 29.2 3 0 0.0
HART 218 AR 16 4] 25.0 13 3| 23.1 3 1| 33.3
7~ B T R T P A 12 3 25.0 0 0 0.0 12 3[  25.0
PR A7 4 AT — 2 AR Al P 2 42 10 23.8 33 10| 30.3 9 0 0.0
KRAZ 2 =T 40— — B P24 41 9] 22.0 37 71 18.9 4 2 50.0
SR RO E R E A L 33 r{ 28 6| 21.4 5 1l 20.0
B R e A T P A 41 8| 19.5 20 71  35.0 21 I 4.8
4 [ A AL R P A 39 71 17.9 32 6| 18.8 7 If 143
Y B i kR A 37 6] 16.2 18 5| 27.8 19 I 5.3
PRt A T SR R P A 28 4] 14.3 28 4 14.3 0 0 0.0
N LR LA Ak P AR 21 3[ 143 11 1 9.1 10 2| 20.0
P ey QU8 T R A I 2 53 21 3 14.3 21 3[  14.3 0 0 0.0
NN TR e 73 10 13.7 59 9 15.3 14 I 7.1
Hh A DR T P 0 B P AR 23 3 13.0 19 2| 10.5 4 1| 25.0
HEPR 2R R ST A S BRI L Y 56 71 125 51 71 13.7 5 0 0.0
HORUH AL T B PR 27 3[ 111 10 1| 100 17 2 11.8
e HH A R 30 3 10.0 19 3l 158 11 0 0.0
BB SR L S (it - SRR 30 3] 10.0 29 3 103 I 0 0.0
AOI[E BRE ALY A% 51 1 7.8 42 3 7.1 9 1| 11.1
JUIN [E AR — 2 B P 2248 65 5 o 28 5[ 17.9 37 0 0.0
Bo— L7 e T L S B A 19 I 5.3 1 1 9.1 8 0 0.0

(221~252#%)




A i S 03 s 2
2 Pt A% 4 e pe—— PO IS B F—— » .
smE | onEk aRE |2nEn onEnl ok |2nEn|lanEr] oke
KA HPY R 25 1 1.0 25 1 4.0 0 0 0.0
7% AT g il rp g 30 0 0.0 30 0 0.0 0 0 0.0
T B R 3, 0 0.0 23 0 0.0 0 0 0.0

(253~255#%)



(ZBE 10 K

sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR
KI5 ak T PR e R 4 9 9] 100.0 9 9| 100.0 0 0 0.0
IRy R 9 9] 100.0 9 9 100.0 0 0 0.0
R K7 9 9] 100.0 9 9] 100.0 0 0 0.0
BRI SRR 9 9| 100.0 9 9 100.0 0 0 0.0
RIFAR— B LR AL 8 8| 100.0 8 8| 100.0 0 0 0.0
FE IR B EI R R 8 8| 100.0 7 7| 100.0 1 1| 100.0
B R AP 2 (R b Bk R 8 8| 100.0 8 8| 100.0 0 0 0.0
i [ R 8 8| 100.0 8 8| 100.0 0 0 0.0
(EPN P TR A % 8 8| 100.0 8 8| 100.0 0 0 0.0
V= VT — B EEAE 8 8| 100.0 8 8| 100.0 0 0 0.0
EPIRIIPNE 8 8| 100.0 8 8| 100.0 0 0 0.0
FAAR [ A A o Y AR 8 8| 100.0 8 8| 100.0 0 0 0.0
EREPNES 8 8| 100.0 8 8| 100.0 0 0 0.0
(Y PNE S TR e i 7 7 100.0 7 7| 100.0 0 0 0.0
Rl Tt Al P R o 2 7 7| 100.0 7 7| 100.0 0 0 0.0
2R P L R 6 6| 100.0 5 5| 100.0 I 1| 100.0
S TGIATEE RS 6 6] 100.0 5 5 100.0 1 1| 100.0
R A [T B A B P A 6 6| 100.0 6 6| 100.0 0 0 0.0
TN R 6 6| 100.0 6 6| 100.0 0 0 0.0
B - o] o R 6 6] 100.0 6 6| 100.0 0 0 0.0
HE o R A R 5 6 6] 100.0 6 6| 100.0 0 0 0.0
B IRl K 6 6] 100.0 5 5| 100.0 1 1| 100.0
(L ZE TR R 6 6| 100.0 6 6| 100.0 0 0 0.0
HLIFL RN K2 6 6| 100.0 6 6| 100.0 0 0 0.0
HE TH AL R 5 5 100.0 5 5 100.0 0 0 0.0
ERRZES @k vy 5 5 100.0 5 5| 100.0 0 0 0.0
HO S 1) AN 57— A 5 5 100.0 5 5 100.0 0 0 0.0
B A R B R 5 5 100.0 5 5 100.0 0 0 0.0
Ji B SCHR 5 5 100.0 5 5 100.0 0 0 0.0
i LSRR R 5 5 100.0 5 5| 100.0 0 0 0.0
LK 5 5 100.0 5 5 100.0 0 0 0.0
BE P R o R 1 4] 100.0 1 4{ 100.0 0 0 0.0

(1~32#%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR

TN PR AR ALK 2 4] 100.0 4 4 100.0 0 0 0.0
FLR I P b f Ak o A B P AR 4 4] 100.0 4 4 100.0 0 0 0.0
ilEAEE KRS 4 4] 100.0 4 4{  100.0 0 0 0.0
HAE S b R R 4 4| 100.0 1 4 100.0 0 0 0.0
ERNE] 2 a2 1 4] 100.0 1 4[ 100.0 0 0 0.0
JeFEfE AEOR T R R 4 4] 100.0 4 4| 100.0 0 0 0.0
[i] [ L1 W N7 R 3 3 100.0 3 3| 100.0 0 0 0.0
Fe i [ B OR = 3 3 100.0 3 3| 100.0 0 0 0.0
BB rmiiRE 3 3 100.0 2 2| 100.0 1 1| 100.0
FE 1 R A AL TR R B A 3 3 100.0 3 3| 100.0 0 0 0.0
JUINE AR 2 2| 100.0 2 2| 100.0 0 0 0.0
LRI TN 2 2| 100.0 2 2| 100.0 0 0 0.0
[ AL RE P AR (TR B A 2 2| 100.0 2 2| 100.0 0 0 0.0
AEA 5[5 R 1 1| 100.0 I | 100.0 0 0 0.0
BB R I 1| 100.0 I 1| 100.0 0 0 0.0
ESIRIA A HE AL SR (Fr R kR 1 1| 100.0 0 0 0.0 I 1| 100.0
27 KB AL P AR | 1| 100.0 0 0 0.0 1 1| 100.0
LIVNE = l 1| 100.0 I [| 100.0 0 0 0.0
HOR B R 1 1| 100.0 I [ 100.0 0 0 0.0
HURT O B R A L T P A 1 1| 100.0 I 1| 100.0 0 0 0.0
LK | 1| 100.0 1 1| 100.0 0 0 0.0
By 2R K I 1| 100.0 0 0 0.0 1 1| 100.0
4R EE | | 100.0 0 0 0.0 I I| 100.0
] O P R L B P 228 (R @ ) I Il 100.0 0 0 0.0 I Il 100.0
)| L (R S (R S R A RO | 1| 100.0 1 1| 100.0 0 0 0.0
PRI AL 76 7 3 o P A 9 8| 88.9 9 8| 88.9 0 0 0.0
UM R LI 7 (R R AL R0 9 8| 88.9 9 8| 88.9 0 0 0.0
{55 5 i Pk B P e 9 8| 88.9 9 8 88.9 0 0 0.0
a7 hLyy 9 8| 88.9 8 8| 100.0 I 0 0.0
KA AR ik 55 P 2 AR 8 7| 875 7 7| 100.0 1 0 0.0
KGR T PE 18 A R P P AR RE AR 8 71 87.5 7 71 100.0 1 0 0.0
(] 58 P A R Pl R AR 8 7 875 7 7| 100.0 I 0 0.0

(33~64%)




sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR

TERE L O 7 A AT P A 8 7| 875 8 7| 87.5 0 0 0.0
KR AT — 7 [ P 2 R A R T 6| 85.7 7 6| 85.7 0 0 0.0
R EHEIR S 7 6] 85.7 7 6| 85.7 0 0 0.0
GIN )R e 7 7 6] 85.7 6 6| 100.0 1 0 0.0
R A TS 55 (BT A R ) 6 5/ 83.3 5 5 100.0 1 0 0.0
LAETH AR — Y [E R L 6 5| 83.3 6 5| 83.3 0 0 0.0
VUK SR R 5 4 80.0 4 3/ 75.0 1 1| 100.0
o ] R 5 4] 80.0 5 4 80.0 0 0 0.0
IFEEE AR AL PP L (/— e h 7 — — ) 9 7 77.8 8 7 87.5 1 0 0.0
""" & 1L = PR B P A 9 71 778 7 7| 100.0 2 0 0.0
T fEAEERE LY 9 71 77.8 8 71 875 I 0 0.0
RS /3 — 2 L FE P s B (Rl s ) 4 3 75.0 4 3 75.0 0 0 0.0
WHSRE IR 4 3[  75.0 4 3l 75.0 0 0 0.0
1%y U 7 R AL T A5 7 5| 71.4 4 4[ 100.0 3 1| 33.3
BB R SR 7 5 71.4 7 5 71.4 0 0 0.0
FER K 6 4|  66.7 6 4| 66.7 0 0 0.0
AR P 2 6 4]  66.7 6 4| 66.7 0 0 0.0
B35 21 F K 3 2| 66.7 2 2| 100.0 I 0 0.0
E PR ALY Y — 2L v PR 7 4] 57.1 1 3| 75.0 3 1| 33.3
VU] ] 2B R S B P A 6 3 50.0 5 3l 60.0 I 0 0.0
IR SR AL P AR (A st SRR 6 3] 50.0 6 3l 50.0 0 0 0.0
BEKRS 2 1l 50.0 2 1| 50.0 0 0 0.0
T A UL P S (R PR S L) s | 50.0 0 0 0.0 2 1 50.0
PR TIN5 2 A T i ) 2 I 50.0 0 0 0.0 2 I| 50.0
AR REHE AL o (IR RAL R B o s $Am—2) 7} 2 40.0 5 2 40.0 0 0 0.0
M TE v 5 5 e 1 Uk R P A 9 3 33.3 8 3| 37.5 1 0 0.0
OUET T AL P A 9 3[  33.3 9 3 33.3 0 0 0.0
SR 1T 3 it Al B P 2 3 1| 33.3 0 0 0.0 3 Il 333
fEL FH [ B O R A 7 2| 28.6 7 2 28.6 0 0 0.0
(] % 2 0 A8 Ak B P e L R A 7 2| 28.6 7 2| 28.6 0 0 0.0
S EAE ALY 9 I 111 6 1| 16.7 3 0 0.0
SO [E] B AL B P s 1 0 0.0 0 0 0.0 4 0 0.0

(65~96#%)




SREN| OREL| SRR |2RER OREY AR |2REK| AREL SR
R P A AL B P A K P R 2 0 0.0 0 0 0.0 2 0 0.0
K A AL R P A 2 0 0.0 0 0 0.0 2 0 0.0
L) | R S0 1 R 5 I 0 0.0 0 0 0.0 I 0 0.0
R TR R 1 0 0.0 0 0 0.0 1 0 0.0
B R B IR AL P AL (I S ALt I 0 0.0 0 0 0.0 1 0 0.0
INFEBE G 0 S A R I 0 0.0 0 0 0.0 1 0 0.0
o (1] [ i A R 2 I 0 0.0 0 0 0.0 1 0 0.0
B LK I 0 0.0 1 0 0.0 0 0 0.0
(97~104%%)

(&7)
&t 7,144 4,667 65.3| 6,226 4,501 72.3] 918 166 18.1

(359%%)




5 3 4 g ak EEFEBRE AR SRR (E/FIE)

@BV —h (B REZBROICZBE)

(e 1IXI5EE (ST3EAAIENLST4EIASIBET) ICAREWET) LB IREWET) Ry
+T5RIALOHE, TBERE] (XATEE (ST34E3H3IA) ETICEEWET) LEAETH D,

(AP ERW=Z]RE | 12E, BPREZRELUNONEEHT 28521, 3
(ZBH10AL L)
L g W Hire BE2s
BPRLA, SHER| OREL| SR |ZREL AREK SRR | 2RER AREY] SkR
H A AR 33 33[ 100.0 32 32(  100.0 1 1| 100.0
AL SCEOR R R 30 30[ 100.0 30 30[ 100.0 0 0 0.0
e [i] WPk ST R S R S 29 29| 100.0 29 29(  100.0 0 0 0.0
(] % P IR A R 25 25| 100.0 25 25 100.0 0 0 0.0
B 75 S F R A A2 Be 23 23| 100.0 22 22 100.0 I I| 100.0
e FM RS E R 21 21 100.0 21 211 100.0 0 0 0.0
e AR AT IN L R 21 21| 100.0 20 20( 100.0 1 I 100.0
FALFE ALK 21 21| 100.0 20 20( 100.0 I 1| 100.0
L R 19 19 100.0 18 18[ 100.0 1 1| 100.0
PR R 2 19 19 100.0 19 19| 100.0 0 0 0.0
HERS 19 19[ 100.0 18 18] 100.0 1 1| 100.0
FsR B R 18 18 100.0 18 18] 100.0 0 0 0.0
Sl = N R 2 18 18] 100.0 18 18] 100.0 0 0 0.0
Hh A R e R Y e 17 17| 100.0 16 16| 100.0 I 1| 100.0
IGLEHE AR ALY 4 16 16/ 100.0 15 15[ 100.0 1 1| 100.0
KIF R B AR P T3 16 16[ 100.0 16 16| 100.0 0 0 0.0
IR KT 16 16| 100.0 16 16| 100.0 0 0 0.0
RN TN & 16 16[ 100.0 16 16| 100.0 0 0 0.0
S IR O AR SRR | TR 16 16[ 100.0 16 16( 100.0 0 0 0.0
B R 15 15| 100.0 14 14{ 100.0 1 1| 100.0
i E Y MC A F B E R AL Y 2 14 14]  100.0 14 14 100.0 0 0 0.0
K HH PR J 2l B P 2 14 14 100.0 14 4] 100.0 0 0 0.0
KRR 2 5 L 188 DR R e 14 14 100.0 14 14{ 100.0 0 0 0.0
AU YT — S a Rk T 14 14 100.0 14 14| 100.0 0 0 0.0
Rz - EHE - Il R 4% 14 14| 100.0 13 13| 100.0 1 1| 100.0
f R [ A kB P A 14 14| 100.0 14 14| 100.0 0 0 0.0
T IV R A AL P AR 13 13[ 100.0 13 13| 100.0 0 0 0.0
JEB PR oy P 5 et R P 2 13 13| 100.0 13 13| 100.0 0 0 0.0

(1~28%%)



sHEK| OkER| SRR |2REE oKEK ABER |2RER| AREK AR
i 1 AT G A AL B P A 13 13| 100.0 13 13| 100.0 0 0 0.0
B IR E Ak B P A 13 13 100.0 12 12| 100.0 1 I 100.0
=i g RN ey 13 13| 100.0 13 13[  100.0 0 0 0.0
iz )| [ fE HE R AT 2t 12 12| 100.0 12 12| 100.0 0 0 0.0
LAHAL AT 12 12| 100.0 11 11 100.0 1 1| 100.0
R L TR 12 12| 100.0 12 12| 100.0 0 0 0.0
B 75 [ B R 2 12 12| 100.0 11 11| 100.0 1 1| 100.0
FUNEI T AL P SR 12 12[ 100.0 12 12| 100.0 0 0 0.0
SEP R  E K (RS IR 12 12| 100.0 12 12| 100.0 0 0 0.0
BRI P AR 12 12| 100.0 12 12| 100.0 0 0 0.0
H AR K5 12 12| 100.0 11 11| 100.0 I 1| 100.0
5 B7 B @Ak oK 21 12 12[ 100.0 12 12| 100.0 0 0 0.0
Al R 12 12[ 100.0 12 12| 100.0 0 0 0.0
W A PR P 12 12| 100.0 12 12| 100.0 0 0 0.0
KN i et Al B P A 8 11 100.0 11 11 100.0 0 0 0.0
PN 8 [ e 28 o A R 8 gV 2 11 11 100.0 11 11 100.0 0 0 0.0
FRU RS 4 2 A B R N R T S R b 11 11{ 100.0 11 11} 100.0 0 0 0.0
P23 R ASL R AR AL R 11 11| 100.0 10 10] 100.0 I I| 100.0
[E| PR R R R 7 R AR 11 11| 100.0 11 1] 100.0 0 0 0.0
UFEBER 8 11 100.0 11 1] 100.0 0 0 0.0
EIERZEHIKEED 11 11| 100.0 10 10| 100.0 1 1| 100.0
YMCAK 1 [EHERR Al R P 258 11 11| 100.0 11 11| 100.0 0 0 0.0
B AR 0 B B R 10 10| 100.0 9 9 100.0 I Il 100.0
R AL & B L v 10 10[ 100.0 10 10| 100.0 0 0 0.0
M HLUAEY T — a5 10 10[ 100.0 9 9 100.0 1 1| 100.0
FH JFAR Ak o — S L B PE 2R 10 10[ 100.0 10 10[ 100.0 0 0 0.0
EPLLIE 25 9% i ALk B P 10 10[ 100.0 8 8| 100.0 2 2| 100.0
HORU R Ak R 10 10[ 100.0 10 10| 100.0 0 0 0.0
H AR S HERT 10 10[ 100.0 10 10| 100.0 0 0 0.0
A8 R AT R 2R 10 10[ 100.0 10 10| 100.0 0 0 0.0
o] L1 5 S Aol R P A 46 45|  97.8 46 45  97.8 0 0 0.0
Il 5 IR AR AL B P 2P 37 36 97.3 36 36 100.0 I 0 0.0

(29~60#%)




4 i R i BERE

swEN|omE| R | 2Tl orEy] Ak |eREk| kel ke
FREREUI LoD (S fEa R 36 35| 97.2 36 35|  97.2 0 0 0.0
VIS E IR AL P AR 30 29[ 96.7 30 29[ 96.7 0 0 0.0
T R R R 27 26 96.3 25 25 100.0 2 Il 50.0
FLISR P s e ok B P e 25 24 96.0 24 24| 100.0 1 0 0.0
AR RS WP (F— S b TR 24 23| 95.8 23 23| 100.0 1 0 0.0
Al L - 23 22|  95.7 23 22 95.7 0 0 0.0
N =F 4 1L P HE R L 24 23 22|  95.7 23 22| 95.7 0 0 0.0
KIRE R EAR AL (R Y R R 22 21 95.5 g9 21| 95.5 0 0 0.0
Hik PR AR AL R 22 21|  95.5 20 20| 100.0 2 Il 50.0
HERFIL EEALEE H MR 21 20|  95.2 21 20| 95.2 0 0 0.0
AR—Y 7SRRI AL 20 19]  95.0 19 18]  94.7 I Il 100.0
4 i R R PR AT kR P A 20 19  95.0 20 19 95.0 0 0 0.0
KA R 19 18| 94.7 19 18]  94.7 0 0 0.0
A IR B s Al B Y st 19 18] 94.7 19 18]  94.7 0 0 0.0
H R B R S R R 0 36 34| 94.4 35 33 94.3 I 1| 100.0
R I =T SR by et 17 16  94.1 15 15| 100.0 2 1| 50.0
{] JER e Ak B P AR 17 16| 94.1 14 14 100.0 3 2|  66.7
=2 T N 5% | A P 17 16|  94.1 15 15| 100.0 2 I| 50.0
BE PE fE S AL BT 2 33 311 93.9 32 30 93.8 I I 100.0
RO LR P2 (A St kB4R )) 32 30| 93.8 30 29 96.7 2 I| 50.0
HEL VS A P S e 5 | 3 p R R 16 15| 93.8 15 14 93.3 1 1| 100.0
PN R P N 16 15 93.8 15 15| 100.0 1 0 0.0
i R A T A 16 15[  93.8 16 15| 93.8 0 0 0.0
Y MC A& FEf Ak B 24 16 15  93.8 15 15| 100.0 I 0 0.0
[ B AR R P 2 (IR Ak RE) 16 15 93.8 15 15| 100.0 1 0 0.0
F AHR AL B R (A maAt) 30 28] 93.3 28 26|  92.9 2 2| 100.0
WUEE R R R0 15 14 93.3 13 13| 100.0 2 I| 50.0
vy M B B AL R 27 15 14 93.3 14 4] 100.0 I 0 0.0
B LA R 15 14 93.3 14 13]  92.9 I I 100.0
B 2~ — R R AR A B A 15 14| 93.3 15 14| 93.3 0 0 0.0
HINGIE) R N R NS 15 14| 93.3 14 14 100.0 1 0 0.0
PR Ak B P 2 15 14 93.3 15 14  93.3 0 0 0.0

(61~92f%)




TRER| aHER| SR |2RhER anEk| ok |2REK|akEY GBR

R PR f A A B P A5 43 40[  93.0 11 39  95.1 2 1| 50.0
)y A Ko 14 13[  92.9 13 13 100.0 1 0 0.0
B B R B S (R D) 14 13|  92.9 12 12| 100.0 2 1| 50.0
e NES SR Y N 27 25|  92.6 26 24 92.3 1 1| 100.0
H AR Ak 5 e e kB PR 2P 39 36| 92.3 37 35  94.6 2 1|  50.0
TNT 7 R AL P R 26 24 923 25 23 92.0 1 1| 100.0
A R 26 24 92.3 26 24|  92.3 0 0 0.0
T Bt AL R AL 13 12  92.3 9 9] 100.0 4 3l 75.0
Lo it fik B A% 13 12 92.3 13 12  92.3 0 0 0.0
IR B [E R R 13 12  92.3 12 12| 100.0 I 0 0.0
i o] 5 s T A R P A 13 12[  92.3 13 12| 92.3 0 0 0.0
BT TR R 12 11 91.7 12 1| 917 0 0 0.0
) R P Y S (e AR R 12 1 91.7 9 9 100.0 3 2| 66.7
H AR A8k H L K 12 11 91.7 12 [ 91.7 0 0 0.0
~ 1= AR AL B P SRR 12 1] 91.7 12 1 91.7 0 0 0.0
o e BRI PR AR Ak B Y A3 35 32| 91.4 32 31 96.9 3 1| 333
I NS TR PNES 22 20[  90.9 21 20|  95.2 1 0 0.0
i oy AT R AL T AR 22 20 90.9 20 19]  95.0 2 I| 50.0
TR L 0 2 9 5l T R P 2 A 11 10[  90.9 10 10| 100.0 I 0 0.0

e M R A A A B P A 11 10 90.9 10 10| 100.0 I 0 0.0
file K% 21 191  90.5 21 19] 90.5 0 0 0.0
WA S 3l b ik P A 20 18] 90.0 20 18]  90.0 0 0 0.0
RFEL TR 10 9]  90.0 9 9] 100.0 I 0 0.0
R R AL T P s 10 9]  90.0 10 9  90.0 0 0 0.0
YL U R AR fk B P R 10 9]  90.0 10 9  90.0 0 0 0.0
P [ AR Ak B P 2 o g 29 26| 89.7 26 25  96.2 3 1| 333
IR 29 26|  89.7 28 26  92.9 I 0 0.0
(BN AR — I A Ak P oA 19 17 89.5 19 17]  89.5 0 0 0.0
AGRE & NS S 8 PN = 19 17| 89.5 19 17]  89.5 0 0 0.0
By EAR AR R R AR 37 33 89.2 36 331 917 1 0 0.0
PRI P NE = T N a7 24  88.9 25 23] 92.0 2 1| 50.0
(IINSER =3 = A R 7 3 30| 88.2 33 30l 90.9 I 0 0.0

(93~124F%)




shEK| anER| AR |2RE onEy| ok |2RER| asER Ak

SN =S PRy NE S T N 24 21| 875 24 21| 87.5 0 0 0.0
R E R ALY AR 16 14| 875 16 14| 87.5 0 0 0.0
P PR IR AR IR T L 23 20 87.0 19 18]  94.7 4 2| 50.0
ekt R A AL AL 15 13|  86.7 13 13[ 100.0 2 0 0.0
FH [5] Af A [ R 35 30 85.7 30 27 90.0 5 3| 60.0
FK B 2[R 5 Ak B S P A 21 18| 85.7 19 18| 94.7 2 0 0.0
S ] A1 e Ak R P A 14 12| 85.7 12 12| 100.0 2 0 0.0
YICH i@ Ak B 7% 14 12| 85.7 13 12  92.3 1 0 0.0
WER I VAT 7 — KA et kP ke 20 17| 85.0 17 16| 94.1 3 1| 333
A1 A kA 20 17| 85.0 18 17 94.4 2 0 0.0
)| Ak B P A 20 17[  85.0 16 16| 100.0 4 1| 25.0
P By ] B K 2 19 16| 84.2 17 16| 94.1 2 0 0.0
RIFH2SLUEMFER 19 16| 84.2 19 16| 84.2 0 0 0.0
BTk B P A 25 21 84.0 20 19]  95.0 5 2| 40.0
W] HH £ kP P s 37 31| 83.8 35 30| 85.7 2 I| 50.0
4 iy AR L K 24 20 83.3 22 20 90.9 2 0 0.0
FINEHRE 12 10 83.3 12 10 83.3 0 0 0.0
T [ PR A AL R 12 10 83.3 11 10]  90.9 I 0 0.0
Py B AR A RIR 12 10 83.3 12 10] 83.3 0 0 0.0
AP AL R AR (R AR 12 10] 83.3 10 10[ 100.0 2 0 0.0
Fra LAk 2 Ak BERY 2 AR 12 10 83.3 10 9  90.0 2 1| 50.0
J2. 3 f Ak B P 23 19 82.6 23 19 82.6 0 0 0.0
B v =T VPR R LR PR 23 19] 82.6 21 18| 85.7 2 Il 50.0
T e A B P AR 23 19 82.6 21 19]  90.5 2 0 0.0
BEN /S — AR U2 (AP EB AR AL FY) 17 14| 824 13 12| 92.3 4 2| 50.0
[E AR K2 17 14| 82.4 14 14 100.0 3 0 0.0
I3l F 0 2 ] AL R 17 14 82.4 17 14] 82.4 0 0 0.0
M= F L S T i A A PR 2 50 411 82.0 43 371 86.0 7 4  57.1
KT etk R R 11 9] 81.8 11 9 8L.8 0 0 0.0
BER AL SRR P AR 11 9] 81.8 9 8| 88.9 2 1| 50.0
PR IR 11 9] 81.8 9 8| 88.9 2 1| 50.0
HAE S b7 [ R P e 11 9] 81.8 9 8| 88.9 2 I|  50.0

(125~156#%)




shEK| anER| AR |2RE onEy| ok |2RER| asER Ak
BEREEEALTF R 16 13| 81.3 14 13|  92.9 2 0 0.0
P AL S PR (IR AL PR A SR AL 26 21 80.8 22 18 81.8 4 3 75.0
TR AR AL R P A 25 20  80.0 23 20  87.0 B 0 0.0
o ] [ s kA TR —  EE P A 25 20[  80.0 21 18] 85.7 1 2 50.0
HURUHE AR P b (st bt RI3 AR ) 20 16|  80.0 19 16| 84.2 1 0 0.0
R e = I s e A B P AR 15 12| 80.0 13 12  92.3 2 0 0.0
B ER L B2 15 12| 80.0 14 12 85.7 1 0 0.0
Whk= 7LD 10 8| 80.0 9 8| 88.9 1 0 0.0
=T AL E P 24 19  79.2 20 19  95.0 4 0 0.0
Wh 25 B KRR R 19 15  78.9 16 15|  93.8 3 0 0.0
LA ER B BT DR E 33 26| 78.8 28 25|  89.3 5 Il 20.0
S\ VB IR AL R P AR 45 35 77.8 39 34 87.2 6 Il 16.7
SRR A A R P A 36 28| 77.8 29 26|  89.7 7 2| 28.6
7 H AR 18 14| 77.8 17 13|  76.5 I 1| 100.0
T A0 P A A R P S 40 31| 775 36 30| 83.3 1 Il 25.0
<HLER B RULE P 2R 31 24  77.4 28 24  85.7 3 0 0.0
KR RE LRI A2 (e tm kB 13 10|  76.9 12 10| 83.3 1 0 0.0
JUM R B R (LR 13 10|  76.9 8 8| 100.0 5 2| 40.0
HUAR R A [ 0 B P A 13 10 76.9 13 0] 76.9 0 0 0.0
ZZAEFRAEALT AR 17 13| 76.5 13 12|  92.3 4 Il 250
FEEYMCAEBE ALY AL 17 13 76.5 15 13| 86.7 2 0 0.0
PNUNHE R v N 21 16| 76.2 18 16|  88.9 3 0 0.0
RO AS I R AL O 7 R AT 2 50 38|  76.0 47 38|  80.9 3 0 0.0
LN I R 24 18  75.0 19 17| 89.5 5 I| 20.0
PN TERRees EA ke i 20 15|  75.0 17 14| 82.4 3 1| 333
8] VB R T A Ao R P e 16 12  75.0 12 1| 91.7 4 1| 250
IR AEEE P 2R 12 9] 75.0 11 9 81.8 I 0 0.0
AR LR EE R P B P A 27 20  74.1 23 20  87.0 4 0 0.0
P 2595 kB P A 23 17 73.9 19 14] 73.7 4 3l 75.0
TR AR L B P S 19 14|  73.7 18 14  77.8 1 0 0.0
DY ] 5 9 Aol R P A 22 16| 72.7 20 15 75.0 2 1| 50.0
YMC ABERERR AR L 22 16| 727 20 16|  80.0 2 0 0.0

(157~188#%)




shEK| anER| AR |2RE onEy| ok |2RER| asER Ak
AR T 77— B P AR 11 8| 727 9 8| 88.9 2 0 0.0
KRR B RAL P 7K 14 10] 71.4 13 9  69.2 1 1| 100.0
KU 27 FIR S (A BE AL R 20 14| 70.0 14 14| 100.0 6 0 0.0
A ket v S TiEN A S P 10 7 70.0 8 6| 75.0 2 I| 50.0
i ) A S ik P AR 10 7| 70.0 8 6| 75.0 2 1| 50.0
4l R A Ak R PG A 36 24| 66.7 28 22  78.6 8 2  25.0
i [ AL R 23 15 65.2 20 14 70.0 3 1| 33.3
T A SR AR P AR 38 24|  63.2 31 24 774 7 0 0.0
RN ][22 98 b B P A 16 10 62,5 12 9 75.0 4 1| 250
S e A A e A 12 6| 50.0 9 6| 66.7 3 0 0.0

(189~198#%)




(ZBE 10 K

shEK| anER| AR |2RE onEy| ok |2RER| asER Ak
KI5 ak T PR e R 4 9 9] 100.0 9 9 100.0 0 0 0.0
IRy R 9 9] 100.0 9 9 100.0 0 0 0.0
R K7 9 9] 100.0 9 9] 100.0 0 0 0.0
BRI SRR 9 9| 100.0 9 9 100.0 0 0 0.0
JEB VR 05 [ B R 8 8| 100.0 7 7| 100.0 1 1| 100.0
AR B (s i SR 8 8| 100.0 8 8| 100.0 0 0 0.0
A o o] R 8 8| 100.0 8 8| 100.0 0 0 0.0
= VT — 7 P SRR 8 8| 100.0 8 8| 100.0 0 0 0.0
e SN R 8 8| 100.0 8 8| 100.0 0 0 0.0
HH R 8 8| 100.0 8 8| 100.0 0 0 0.0
T A 9 1 P B B (A R R 7 71 100.0 5 5 100.0 2 2| 100.0
KIFAR— Y ERRR B LR A% 7 7| 100.0 7 71 100.0 0 0 0.0
5| 75V & o S N 59 7 7| 100.0 7 7| 100.0 0 0 0.0
(Y PNE S TR e i 7 7 100.0 7 7| 100.0 0 0 0.0
Rl Tt Al P R o 2 7 7| 100.0 7 7| 100.0 0 0 0.0
FAAR EHEARAE R P AR 7 7| 100.0 7 7| 100.0 0 0 0.0
AR P L K A 6 6| 100.0 5 5 100.0 1 1| 100.0
AR T R 6 6| 100.0 5 5 100.0 I Il 100.0
R e 2 5 R ) 2 6 6| 100.0 6 6| 100.0 0 0 0.0
B A AL P 2 6 6] 100.0 5 5 100.0 I I| 100.0
R e = 6 6| 100.0 6 6| 100.0 0 0 0.0
PR - [3] A 1 K 2 6 6| 100.0 6 6| 100.0 0 0 0.0
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P —Z ' & AR — YV HfH2E S 6 6] 100.0 6 6| 100.0 0 0 0.0
KA AR ik 55 P 2 AR 5 5 100.0 5 5| 100.0 0 0 0.0
HE TE R 5 5 100.0 5 5 100.0 0 0 0.0
EPEZES AL v 5 5 100.0 5 5 100.0 0 0 0.0

(1~32#%)




shEK| anER| AR |2RE onEy| ok |2RER| asER Ak

BRIV ARNT 7— K 5 100.0 5 5| 100.0 0 0 0.0
REPTEERET ) A 5 5 100.0 5 5 100.0 0 0 0.0
B2 (LI R AH L Y 5 5 100.0 5 5 100.0 0 0 0.0
B RIS R PRI R 5 5 100.0 5 5| 100.0 0 0 0.0
P FUMN R R 5 5 100.0 5 5[ 100.0 0 0 0.0
IS, iy ] I8 = TR A A B P A 5 5 100.0 5 5| 100.0 0 0 0.0
IN=3'E TN 5 5 100.0 5 5[ 100.0 0 0 0.0
i LSRR 5 5 100.0 5 5 100.0 0 0 0.0
JEFIRF: 5 5 100.0 5 5| 100.0 0 0 0.0
KRIEHR R P SEHE (A B RL R 2R 1 4 100.0 1 4/ 100.0 0 0 0.0
R 15 9 i L R B o P i FE A2 4 4] 100.0 4 4{ 100.0 0 0 0.0
H AL R AR 4 4 100.0 3 3| 100.0 1 1| 100.0
B fE AR 2R 4 4] 100.0 4 4{  100.0 0 0 0.0
JUIN PR A LR 1 4[  100.0 1 4 100.0 0 0 0.0
FLIRE 2 - Bl R B P e 1 4] 100.0 1 4[  100.0 0 0 0.0
ilEAEALTFRE 4 4] 100.0 4 4| 100.0 0 0 0.0
AL LR R 4 4 100.0 4 4{  100.0 0 0 0.0
HH A E B 1 4] 100.0 4 4[ 100.0 0 0 0.0
A B g Ak O 7 TP AR 1 4[  100.0 1 4{  100.0 0 0 0.0
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PR AL R T R A 7 4] 57.1 6 4| 66.7 I 0 0.0
B2 ALY Y — A B L v VR B 7 4] 57.1 1 3| 75.0 3 1| 33.3
T e Ak B P 2 6 3|  50.0 4 3| 75.0 2 0 0.0
KO EHFER 2 I 50.0 g 1| 50.0 0 0 0.0

(97~128F%)




A Pt % 44 - = - kS . s
swE|omE| R | 2Tl orEy| Ak |eREk| kel ke
R 1l 50.0 2 1| 50.0 0 0 0.0
FURRALIR B P 8¢ 2 I 50.0 1 1| 100.0 1 0 0.0
P T LR S R R PR R S kD) 2 | 50.0 0 0 0.0 2 1 50.0
I (AP A 1 2 B A ) 2 1| 50.0 0 0 0.0 2 Il 50.0
ZIZAER AL Y A B IR 9 4] 444 8 4 50.0 1 0 0.0
RS BT T BE A Ak R P 2P 3 1| 333 0 0 0.0 3 1| 333
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Eb I D= S8 Ayt A ooy 33 9 27.3 25 9] 36.0 8 0 0.0
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A2 =T 4T — A — B R 39 71 17.9 37 71 18.9 2 0 0.0
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ORI 2 4 ol T8 L B P A 1 1| 100.0 1 1| 100.0 0 0 0.0
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L0 P T 5 PR A L B P AR 4 [ 75.0 2 2| 100.0 2 1| 50.0
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Tk 52 R 0 R A 2 0 0.0 1 0 0.0 1 0 0.0
K 2 0 0.0 2 0 0.0 0 0 0.0
L [ R 0T R P A% 2 0 0.0 0 0 0.0 2 0 0.0
SR B R ALY S (A i i FE R 2 0 0.0 2 0 0.0 0 0 0.0
RN ES e R e A e 2 0 0.0 2 0 0.0 0 0 0.0
N =F A AL P R E R LR 2 0 0.0 2 0 0.0 0 0 0.0
WY @ Ak OR B B e 2 0 0.0 1 0 0.0 1 0 0.0
B IR AL T 2 1 0 0.0 1 0 0.0 0 0 0.0
DSATRAEALE R R | 0 0.0 0 0 0.0 1 0 0.0
FUBP il B P 224 1 0 0.0 1 0 0.0 0 0 0.0

(65~961%)




Rk ——
TERE N AR E Y G | ERE| A REN AR |SRESEREY GKE
EIBRERCE R 1 0 0.0 0 0 0.0 1 0 0.0
{87 B A KRR 1 0 0.0 1 0 0.0 0 0 0.0
VY [ e R S R P S 1 0 0.0 1 0 0.0 0 0 0.0
B L E R AL P 1 0 0.0 0 0 0.0 1 0 0.0
(97~100%%)

(&38h)
#t 2,615  657| 25.1] 2,053]  616] 30.0] 562 41 7.3

(186F%)



5 3 4 ErEE Ak EEFAREIR SRR SRR (ERFIE)

OFALR BV — (EHIORFE2H BT ITHE TR FFRE)

[2E) 1X45EE (ST3E4H1IANOSFAEIHSIAET) ICHEEWET) LE-HIIEREEWET)
T3 RiALOFE, TBEZE] I8 E (SF34E3H31H) ETICREET) LA TH S,

[(ZEBRFI10ALLE)

o R i A

i SHER| OREL| SR |ZREL AREK SRR | 2RER AREY] SkR
B E A A 42 42| 100.0 42 42| 100.0 0 0 0.0
A 7 111 o v S 2P 37 37| 100.0 37 37 100.0 0 0 0.0
P e S AR 37 37| 100.0 37 37| 100.0 0 0 0.0
DR EEARE o V5 A 34 34| 100.0 34 34| 100.0 0 0 0.0
HEEP AL @ P 31 31 100.0 30 30| 100.0 I Il 100.0
P Al 8 B e AR 29 29| 100.0 29 29[ 100.0 0 0 0.0
Vi 7l 3 ) PR 29 29[ 100.0 28 28] 100.0 1 1| 100.0
5 DT B S AR 28 28| 100.0 28 28 100.0 0 0 0.0
e A P o A AR 28 28 100.0 28 28 100.0 0 0 0.0
FH R I 5 S5 A 26 26| 100.0 26 26 100.0 0 0 0.0
8 TS O Hl T e S AR 22 22 100.0 22 22| 100.0 0 0 0.0
fif 1 B o S R 21 21| 100.0 20 20( 100.0 1 1| 100.0
I 75 B 1 S e 21 21 100.0 21 211 100.0 0 0 0.0
EL [ { L o oo S A 18 18[ 100.0 17 17| 100.0 I I| 100.0
fasl B o S SR 17 17| 100.0 17 17| 100.0 0 0 0.0
HH B 1 S A 16 16| 100.0 16 16/ 100.0 0 0 0.0
PR AR 13 13| 100.0 12 12| 100.0 1 1| 100.0
T B R v A A 12 12| 100.0 9 9 100.0 3 3] 100.0
SR SRR o 3 11 11| 100.0 11 11[ 100.0 0 0 0.0
HRT 218 5 AR 11 11| 100.0 11 11| 100.0 0 0 0.0
FEHEE 7 0 S AR 10 10l 100.0 10 10| 100.0 0 0 0.0
KRGy P e A AR 77 76|  98.7 77 76|  98.7 0 0 0.0
W e i AR R 41 40[  97.6 40 39| 97.5 I I 100.0
oy e B A R 37 36|  97.3 36 36/ 100.0 I 0 0.0
T N IR 78 5 A 33 32|  97.0 33 32|  97.0 0 0 0.0
2 Ak i AR 33 32|  97.0 33 32 97.0 0 0 0.0
R B B 33 32|  97.0 33 321 97.0 0 0 0.0
H i e s 31 30  96.8 31 30  96.8 0 0 0.0

(1~28%%)




HH

iz

B AR

St swEN|omE| R | 2Tl orEy] Ak |eREk| kel ke
P B RS 1 A 29 28|  96.6 29 28|  96.6 0 0 0.0
FEREREEFR 24 23]  95.8 24 23| 95.8 0 0 0.0
GBI BILRG; 5 S FE 23 22 95.7 23 22|  95.7 0 0 0.0
MR R % 5 B 15 A L 23 22 95.7 23 22| 95.7 0 0 0.0
iy HE H R R 21 20 95.2 18 17 94.4 3 3| 100.0
e ) - o S AR 18 17 94.4 14 14| 100.0 1 3l 75.0
e i AR 34 32 94.1 31 31f  100.0 3 1| 33.3
(mPII P Re s 5 16 15[  93.8 16 15  93.8 0 0 0.0
Rl Tl i A5 S 16 15[  93.8 16 15 93.8 0 0 0.0
RANR 150 %5 AR 30 28] 93.3 28 27| 96.4 2 1| 50.0
B K ZE R 15 14  93.3 15 14 93.3 0 0 0.0
PrREHEFFH 14 13[  92.9 12 12| 100.0 2 I 50.0
Y P SV e 39 36| 92.3 37 34| 91.9 2 2| 100.0
KA P e 5 A% 13 12 92.3 13 12| 92.3 0 0 0.0
R A e S A 25 23] 92.0 24 23] 95.8 I 0 0.0
Fe el B v S AR 12 11| 91.7 11 11| 100.0 I 0 0.0
RN Ak 5 43 39 90.7 37 36 97.3 6 3| 50.0
R 2 o o A AR 20 18[  90.0 18 18] 100.0 2 0 0.0
A v A A 17 15 88.2 15 4] 93.3 2 I| 50.0
PRI i AL 17 15  88.2 16 15| 93.8 I 0 0.0
R 1 L R S A 23 20|  87.0 22 19] 86.4 1 1| 100.0
TR E PEHE B K 22 19 86.4 19 19 100.0 3 0 0.0
7IVEES o PR R A AR 36 311 86.1 30 28] 93.3 6 3 50.0
IEAME 78 i G P 28 24|  85.7 25 241 96.0 3 0 0.0
HH A P o S AR 21 18| 85.7 19 18]  94.7 2 0 0.0
I K 38 32| 84.2 37 31] 83.8 1 1| 100.0
B2 R A 25 21 84.0 25 211 84.0 0 0 0.0
PR el A A 3 28 82.4 29 25| 86.2 5 3 60.0
& AL AR 22 18 81.8 20 18] 90.0 2 0 0.0
BRI P ol e S A 22 18] 81.8 18 16| 88.9 4 2| 50.0
B AR 5o S 38 31| 81.6 32 27| 84.4 6 4 66.7
I3 5% 1 R 21 17 81.0 18 16| 88.9 3 I| 333

(29~60#%)




e i R BERs

i TRER| aHER| SR |2RhER anEk| ok |2REK|akEY GBR
7INPR T M v S AR 25 20[  80.0 20 19  95.0 5 1| 20.0
A 1 o S AR 10 8|  80.0 7 6| 85.7 3 2| 66.7
T i R 24 19 79.2 19 17  89.5 5 2| 40.0
A PR R S5 AR 24 19 79.2 21 19  90.5 3 0 0.0
W[ 5 SR AR 47 37| 78.7 34 32| 94.1 13 5/ 385
SRAL i PR 14 11| 78.6 12 10 83.3 2 1| 50.0
TE B i AR 17 13  76.5 17 13[  76.5 0 0 0.0
SR R 2t R 2 B /1 v S 21 16| 76.2 15 14 93.3 6 2| 333
8 e A A 25 19  76.0 18 15 83.3 7 1| 57.1
VA B P e S AR 37 28]  75.7 35 28] 80.0 2 0 0.0
AR\ e AR 24 18] 75.0 18 17| 94.4 6 1| 16.7
PR E K 20 15  75.0 17 14| 824 3 1| 33.3
2] 1 S R 26 19 73.1 19 18]  94.7 7 1| 14.3
TR i 8 AR 26 19  73.1 19 16| 84.2 7 3[ 429
RF0 T e v A AR 32 23|  71.9 23 20|  87.0 9 3] 333
B R e S AR 28 20 71.4 26 20  76.9 2 0 0.0
R E TR 14 10 71.4 11 9] 81.8 3 1| 33.3
T R R 38 27 71.1 36 27 75.0 2 0 0.0
B i A A 33 23 69.7 24 21| 87.5 9 2 222
- b5 e 31 21|  67.7 22 18] 81.8 9 3 33.3
TN R AR 40 27| 67.5 24 22| 91.7 16 5/ 31.3
fili5 KAt I B Rl R 5 A 18 12  66.7 15 11| 73.3 3 1| 33.3
B S i AR 37 24 64.9 27 22| 81.5 10 2 20.0
U i ) 5 A 14 9] 64.3 9 71 778 5 2| 40.0
s A ] R v 4 A 22 14|  63.6 16 11| 68.8 6 3] 50.0
A3 1 v 4 A 11 7| 63.6 9 71 778 2 0 0.0
EL I i A AR 32 20  62.5 23 18] 78.3 9 2| 222
A7 HH F R AR AR 15 9]  60.0 11 7| 63.6 4 2| 50.0
2 3] o A 32 19] 59.4 23 16| 69.6 9 3] 33.3
Fo LI 22 B 1 S AR 31 18] 58.1 22 17 77.3 9 Il 111
i) B e S A 14 8] 57.1 12 8| 66.7 2 0 0.0
A A R 23 13  56.5 15 9  60.0 8 4 50.0

(61~92f%)




Y i P BERs

R swE|omE| R | 2Tl orEy| Ak |eREk| kel ke
EEm TR 32 18] 56.3 20 15  75.0 12 3l 25.0
SR AR 34 19 55.9 31 19  61.3 3 0 0.0
Y RN e i 13 7 53.8 11 7| 63.6 2 0 0.0
HEK i A 43 22| 51.2 31 18| 58.1 12 4| 333
FE V2 i 78 0 S A 29 14|  48.3 19 13| 68.4 10 1| 100
[F1) 555 o 5 A 32 15  46.9 23 13| 56.5 9 2 222

(93~98#%)




(ZBE 10 K

Y i P BERs
i TRER| aHER| SR |2RhER anEk| ok |2REK|aKRELR AaBR
35 L 2gF- i  EAK 9 9] 100.0 9 9 100.0 0 0 0.0
VG [ 1 S AR 9 9] 100.0 9 9] 100.0 0 0 0.0
LR FHAL & 5 A (RERE) 8 8| 100.0 8 8| 100.0 0 0 0.0
TS o] o SR o A R . 3 100.0 3 3| 100.0 0 0 0.0
& B3 K o i S A (B CR) 2 2| 100.0 5 2| 100.0 0 0 0.0
V28 i S SR 1 1| 100.0 0 0 0.0 1 1| 100.0
RG] e S AR I 1| 100.0 0 0 0.0 1 I 100.0
AL B T v 5 4 80.0 5 4 80.0 0 0 0.0
o] i P o e A 8 6] 75.0 7 6| 85.7 1 0 0.0
M2 SR 8 6] 75.0 5 5 100.0 3 1| 33.3
EREE SR 7 5( 71.4 6 5/ 83.3 I 0 0.0
TIET SR 8 5/ 62.5 5 5 100.0 3 0 0.0
FBG i A 5 3] 60.0 4 3l 75.0 1 0 0.0
BB VR TR 175 il e A B 2 1| 50.0 0 0 0.0 2 1| 50.0
I R [ o AR 3 1| 33.3 2 1| 50.0 I 0 0.0
KB LR EFR 3 1| 33.3 0 0 0.0 3 1| 33.3
TR ) SR AR 3 0 0.0 0 0 0.0 3 0 0.0
AR R o A A 2 0 0.0 0 0 0.0 2 0 0.0
BB AR 1 0 0.0 0 0 0.0 I 0 0.0
LGRE TR I 0 0.0 0 0 0.0 I 0 0.0
(1~20#%)

(&#f)

gt 2,634 2,191| 83.2| 2,301| 2,080 90.4 333 11 333

(118F%)




